v ARk m
ATV IORT ST v =/ RILK

Or—s54>079231.42>FYOARILNA

EH 22110.

EmiA

AFVIR RILNAOT Y 1TF, BETOY 922110.0412£22110.0416ICEFE L &

?0

e

« AT 14—, Eftnid

BB 31EH

e

The thread is matched to the mounting blocks
for index bolts and index plungers, die-cast
(EH 22110.) and mounting blocks for index
bolts and index plungers (EH 22120.).

Z 00 Em

s BEJOYD, AVFYIARILN, 42
FYORTZUDv—f, T4 F v AR
- BEJOYO, AVFYTARILNA

TER
12
g
7
1
H-m— 1 - -
o N S o lﬁ
//14,445._\¥ _
l3 ) o
ST 1A
& BE&AR | ZHiE & [ 1
b
d4 d; d; Iy I, I3 max.
+0,1 0,3 min -0,3
[mm] [mm] [mm] [°C] [g]
M12x 1,5 4,2 12,1 9 10 13 4 13 250 10,0 22110.0454
M12x1,5 5,2 12,1 9 10 13 5 13 250 9,6 22110.0455
M12 x 1,5 6,2 12,1 9 10 13 6 13 250 8,5 22110.0456
M16 x 1,5 8,2 16,1 11 12 15 8 17 250 18,0 22110.0458
M16 x 1,5 10,2 16,1 11 12 15 10 17 250 14,0 22110.0460
M16 x 1,5 12,2 16,1 11 12 15 12 17 250 9,1 22110.0462
cNHALDER E1A52
KR: 10.8.2024


http://halder.com/jp/22110.0454
http://halder.com/jp/22110.0455
http://halder.com/jp/22110.0456
http://halder.com/jp/22110.0458
http://halder.com/jp/22110.0460
http://halder.com/jp/22110.0462

B RESR
AVFYORT ST~ KILK

SR i

A-A

_LJ_
1

pan

uh NANANN

Pl

Z

ERSQAYTIAT A
RoHS#E#L
$hx&74H- 6al 6b/ 6cHBRAREICES

0.1% A EOBBREME(SVHC)ZERAL TVWET
thE &8 L £9-202456 H27 HSVHC [REACH] A KR

Z7ORDSIVeSUAMOMEZERALTVWET

A\

HICHEND &G, RYNAMPEEREZSIERECIRRAICKYET,
https://www.P65Warnings.ca.gov/

BEMERERALTLERA
AEGmE, AIREHANECPHEMBEASELEhZFEY, B, &, IVIATUBREOVABS THEHY, CHRIZYEER>TLE
A

"H2A52

NHALDER K5 10.8.2024



